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Geometry 13.2 m

Use permutations with probability
Use combinations with probability
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l O KeyConcept Factorial l

Words The factorial of a positive integer n, written n!, is the product of the positive integers
less than or equal to n.

Symbols m=n«n—=1)+N—2)+...+2+1, where 0! =1
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Example 2

» A class is divided into teams each made up of 15 students. Each team is directed to
select team members to be officers. If Sam, Valencia, and Deshane are on a team,
and the positions are decided at random, what is the probability that they are
selected as president, vice president, and secretary, respectively?
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Salt Pepper Ginger Thyme Curry Curry Salt Pepper Ginger Thyme

5 4-3.3. |

| D



Curry Pepper

L~

Thyme Ginger

Is it a different arrangement?
1%4*3*2*1 Why?

Circular (n-1)



Linear: 5 people in a row

Circular: 5 people at a table
(can it be a square table?)

Circular with point of refefignce
(something different):
5 people at a tabl;o. 0
one chair is purple
one seat is next to\a window
one seat has a laptop
etc.
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Quiz 13.1-13.2 Wed.

This is your time to ask for help!
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